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e | P ‘ e | e L E0 | o
o | B[R | || e | i | o D
T T
= ¥ | (mh) @/min) | (%) | &E | y=1 W) -
(m) ( (mm) | (mm)
m)
120 | 122 77.0 75
120 | 138 77.0 75
2x10096(50MW)
SLDTNA 120 | 154 | 1480 | 770 | 25 90 200 | 150
3x50%(L00MW)
10| 120 | 170 77.0 90
11| 120 | 187 77.0 90
160 | 84 75.0 55
160 | 96 75.0 90
2x1009%(50MW)
6LDTN 160 | 108 | 1480 | 750 | 2.8 90 200 | 150
3x50%(L00MW)
10| 160 | 120 75.0 90
11| 160 | 132 75.0 90
11| 180 | 140 77.0 110
2x100%(50MW)
6LDTNA | 12| 180 | 166 | 1480 | 770 | 28 132 200 | 150
3x50%(1L00MW)
13| 180 | 180 77.0 132
235 | 118 76.0 110
8 | 235 | 125 76.0 132
2x10096(50MW)
65LDTN | 9 | 235 | 140 | 1480 | 760 | 3 160 250 | 200
3x50%(100MW)
10| 235 | 168 76.0 160
11| 235 | 185 76.0 200
6 | 210 | 140 80.0 132
2x1009%6(50MW)
65LDTNB | 7 | 210 | 163 | 1480 | 80.0 | 2.8 132 250 | 200
3x50%(L00MW)
8 | 210 | 186 80.0 160
5 | 254 | 188 79.0 200
6 | 254 | 225 79.0 250 2x1009%(50MW)
6.5LDTN-D 1480 2.8 250 | 200
7 | 254 | 263 79.0 315 3x50%(L00MW)
8 | 254 | 300 79.0 315
3 | 380 | 108 82.0 200
4 | 380 | 144 82.0 250
2x100%
5 | 380 | 180 82.0 315
7LDTN 1480 3 350 | 250 (L0OMW)
6 | 380 | 216 82.0 350
(200MW)
7 | 380 | 252 82.0 400
8 | 380 | 288 82.0 450
5 | 490 | 250 81.0 500 2x100%
7LDTN-D 1480 2.2 300 | 200 (L00MW)
6 | 490 | 300 81.0 560
(200MW)
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(m) (mm) | (mm)
(m)
3 | 560 | 108 82.0 250
2x100%
8LDTN | 4 | 560 | 144 | 1480 | 820 | 2 315 | 450 | 300
(200MW)
5 | 560 | 180 82.0 400
4 | 900 | 240 83.0 900
2x100%
OLDTN | 5 | 900 | 300 | 1480 | 830 | 38 1000 | 500 | 350
(300MW)
6 | 900 | 360 83.0 1120
3 | 1100 | 210 84.5 900
2x100%
95LDTN | 4 | 1100 | 270 | 1480 | 845 | 36 1120 | 600 | 400
(300MW)
5 | 1100 | 330 845 1400
2> | 1660 | 85 80.0 560
3 | 1660 | 161 81.0 1000
2x100%
10LDTN | 4 | 1660 | 216 | 1480 | 810 | 36 1400 | 800 | 500
(600MW)
5 | 1660 | 271 82.0 1800
6 | 1660 | 305 82.0 200
4 | 1660 | 320 85.0 2000 2x100%
10LDTN-D 1480 45 800 | 500
5 | 1660 | 380 85.0 2240 (600MW)
3 | 2560 | 250 85.0 2500 2x100%
11LDTN 1480 55 800 | 500
4 | 2560 | 350 85.0 3500 (1000MW)
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